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IR =P AT A0 A 0 12,000,000 12,000,000
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209z 103,007 X 42 H X 12
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HAEHS 81,147 X 42 9 X 12
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A7]12%EH 10509 9 x 42 H X
= 5,296,285
I8EHSH 26,324 X 42 dH X 12 =
13,267,320
AMAMESH 19,457 X 42 H X 12 =
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EEEET
- 154,784,245 163,007,439 8,223,194 5.31|7t&H| 41,823,998
B Tol3 158715 x 10 B x 12 _
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HLES 125032 X 10 o X 12 =
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= 1,943,000
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£ |AFRH| OIZAH| A A 1,751,988,273 1,861,337,439 109,349,166
J|2ed U Smy|T ADEH] 200000 X
7| 22| 2,500,000 2,400,000 ~ 100,000 - 400 12 & N 2,400,000
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ofH| 120,000 0 ~ 120,000 . 100.00

AR EEH|, 2R EH|, =MFYE S 2,200,000 X
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12 g = 6,000,000
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Mst4EQF 350,000 x 12 & =
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6,000,000

SHAHES 4,000,000 X 12 & =
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S50 200,000 x 12 & =
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ZHEfFH| 1,000,000 7,200,000 6,200,000 620.00| AtZFFA[H| (AH], AEZ W) 400,000 x
12 & = 4,800,000

S2FH|, ZIAILY 3| AlH| 1,500,000 x
12 € = 18,000,000
ZAMEHEE o|2H|, AZRITE 1,000,000 X

21 =
7|EF2 G| 17,321,000 45,000,000 27,679,000  159.80 Y2 12,000,000

E2/ZQIE 150000 x 50 H x 2 3
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M, Z2H| Y 20§44l 2,000,000 X 12
A|AMH| 18,000,000 24,000,000 6,000,000 3333 € = 24,000,000
AtAtol /& 2,000,000 X 12 €
) 24,000,000
AFALZ| EH . ~ 36, ,000,
ME  MMZAH AL FARZ| EH| 37,944,137 24,000,000 13,944,137 36.75
A2 Y A4 gA|#2[H] 700,000 x
MAH| S =1} —
3 : 23HIRA 11,566,000 8,400,000 3,166,000 2737 B 8,400,000
MHZ MM A|AH| AA 67,510,137 56,400,000 11,110,137
N2 MAZMHH| AA 67,510,137 56,400,000 11,110,137
=, B2AH|, 29|, 258 4&H| 33,276,800 X
e =
A A H| 480,998,784 399,321,600 81677184  ~16.98 12 = 399,321,600
= ol o of AUAZE QIS =8H| 3,000,000 X 12 &
k"E A|'|=|H| T'_‘oH| AQ_7 7} 74 _
27|24 27,400,000 36,000,000 8,600,000 31.39 = 36,000,000
UAZO| HAQM T AJQFDf 3,100,000 X -
o|ZH| 39,240,000 37,200,000 2,040,000 2 5.20 12 & = 37,200,000
N& AbYH| 2H| A7 547,638,784 472,521,600 75,117,184
o2 AR UAZE QSt =208 2F¥H| 1,500,000 X
NZ | AFSH| AFRIH| H_I = e 13,000,000 18,000,000 5,000,000 38.46 12 € = 18,000,000
NE | AbH| ArHH] A 13,000,000 18,000,000 5,000,000
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NE #HzZ A2z J|EpHE 2 200,000,000 228,000,000 28,000,000 14.00
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N Hzx2 HEZ A 200,000,000 228,000,000 28,000,000
N& HEZ A 200,000,000 228,000,000 28,000,000
AlE0|A|&5t= EAF AtEIZ,454H] 8,780,301
NE &2z S I ES 2,057,366 8,780,301 6,722,935 326.77 1 A = 8780,301
NE &= 22 & AH 2,057,366 8,780,301 6,722,935
NZ& 22|Z A 2,057,366 8,780,301 6,722,935
oH|H] 6,000,000 @ X 1 A =
H|H
I T T TR offH[H| 0 6,000,000 6,000,000 0.00 6,000,000
lee=1 500,000 0 500,000 4 100.00
- |GjiH[H] & 7]
N& E} Of|H|H| & 7|Ef AH 500,000 6,000,000 5,500,000
N2 olH|H| & 7|Ef 24 500,000 6,000,000 5,500,000
dzctAal
cozcizal o cecTE 7,500,000 0 47,500,000  100.00
_ Azl gl X iEC)Eic>—1=1 =
Mz [ S° 75 2YEEA
U= MESZ A AEEH R
B 7,500,000 0 7,500,000  100.00
. |(AElz gz | gzorMala ol FAINM
= = [=] [Le (L S = O = i —
ME H _E'L b ‘;,_EF'% e’ e 15,000,000 0 15,000,000
N& Mg o FH|Z AA 15,000,000 0 4 15,000,000
NZ& A4 2,734,944,137  2,851,039,340 116,095,203
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